
Stacks 4–10

Registers $s0 - $s7 must be preserved across function calls

So if a function wishes to use one any of these registers it must save the original
contents first.

A stack is typically used.

MIPS stacks grow down.

$ra - return address

$sp - stack pointer

$fp - frame pointer

$t0

$t1

sw   ra, -4(sp)            
sw   sp, -8(sp) 
sw   fp, -12(sp)
sw   t0, -16(sp)
sw   t1, -20(sp)
addi fp, sp, 0  
addi sp, sp, -20

sp originally points here

fp now points here

sp points here after addi

lw   ra, -4(fp)
lw   sp, -8(fp)
lw   t0, -16(fp)
lw   t1, -20(fp)
lw   fp, -12(fp)

addresses increase this w
ay

Saving registers at start of function call Restoring registers at end of function call

Stack (grows down)


